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Question Number : 1 Question Id : 70819120824 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a typical combustion engine the workdone by a gas molecule is given by

W = HEBU KT, where x is the displacement, k is the Boltzmann constant and T is the
temperature. If a and P are constants, dimensions of a will be :
Options :
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Question Number : 1 Question Id : 70819120824 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 70819120825 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  Body ‘P’ having mass M moving with speed “u” has head-on collision
elastically with another body ‘() having mass ‘m’ initially at rest. If m <<
M, body ‘Q" will have a maximum speed equal to "2u’ after collision.

Reason R : During elastic collision, the momentum and kinetic energy are both
conserved.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819167625, Both A and R are correct and R is the correct explanation of A.

70819167626. Both A and R are correct but R is NOT the correct explanation of A.

70819167627. A is correct but R is not correct.



70819167628. A is not correct but K is correct.

Question Number : 2 Question Id : 70819120825 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 70819120826 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A planet revc-lvi_ng in elliptica] orbit has :

moN®p

a constant velocity of revolution.

has the least velocity when it is nearest to the sun.

its areal velocity is directly proportional to its velocity.

areal velocity is inversely proportional to its velocity.

to follow a trajectory such that the areal velocity is constant.

Choose the correct answer from the options given below :

Options :

70819167629.

A only

70819167630, © °nY
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70819167632.
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Question Number : 3 Question Id : 70819120826 Question Type : MCQ Option Shuffling

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 70819120827 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Find the gravitational force of attraction between the ring and sphere as shown in the diagram,

where the plane of the ring is perpendicular to the line joining the centres. If J8R is the

distance between the centres of a ring (of mass ‘m’) and a sphere (mass "M’) where both have
equal radius 'R’

m M
K R
X | R Y
Options :
VB GmM

E.r" R"
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Question Number : 4 Question Id : 70819120827 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 70819120828 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical solid spheres each of mass ‘m” and radius ‘a’ are placed with their centres on
the four corners of a square of side ‘b". The moment of inertia of the system about one side of
square where the axis of rotation is parallel to the plane of the square is :

Options:
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Question Number : 5 Question Id : 70819120828 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 70819120829 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A large number of water drops, each of radius r, combine to have a drop of radius R. If the
surface tension is T and mechanical equivalent of heat is |, the rise in heat energy per unit
volume will be :

Options :
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Question Number : 6 Question Id : 70819120829 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819120830 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The normal density of a material is p and its bulk modulus of elasticity is K. The magnitude of
increase in density of material, when a pressure P is applied uniformly on all sides, will be :

Options :
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Question Number : 7 Question Id : 70819120830 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 70819120831 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assume that a tunnel is dug along a chord of the earth, at a perpendicular distance (R/2)
from the earth’s centre, where ‘R’ is the radius of the Earth. The wall of the tunnel is frictionless.
If a particle is released in this tunnel, it will execute a simple harmonic motion with a time

period :
Options :
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Question Number : 8 Question Id : 70819120831 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819120832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The temperature 6 at the junction of two insulating sheets, having thermal resistances
R, and R, as well as top and bottom temperatures 6, and 6, (as shown in figure) is given by :

...... 0
R :
Options :
0;R5 + 05Ry
70819167653, =1 T Rz

0;Ry + B,R,
R, +R,

70819167654.
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Question Number : 9 Question Id : 70819120832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 70819120833 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A particle is moving with uniform speed anng the circumference of a circle of radius
R under the action of a central fictitious force F which is inversely proportional to R3. Its time
periocl of revolution will be given h}-‘ '

Options :
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Question Number : 10 Question Id : 70819120833 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 70819120834 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If two similar springs each of spring constant K, are joined in series, the new spring constant
and time period would be changed by a factor :

Options :
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Question Number : 11 Question Id : 70819120834 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819120835 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Find the electric field at point P (as shown in figure) on the perpendicular bisector of a
uniformly charged thin wire of length L carrying a charge Q. The distance of the point P

from the centre of therodis a=—1L
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Question Number : 12 Question Id : 70819120835 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 70819120836 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the combination of 2 capacitors C . and C » with C 5> L v when connected in parallel,

the equivalent capacitance is 7 limes the equivalent capacitance of the same connected in

.Cz
series. Calculate the ratio of capacitors, C_I
Options :
29
70819167669. 1°

15
70819167670. 11

15
70819167671, &

m
70819167672, U

Question Number : 13 Question Id : 70819120836 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 70819120837 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An alternating current is given by the equation i= ;'1 sin wl+ ;'2 cos wl. The rms current will
be:
Options:
o |
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1 (i, + ip)?

= A\ 2
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Question Number : 14 Question Id : 70819120837 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 70819120838 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Five equal resistances are connected in a network as shown in figure. The net resistance
between the points A and Bis :

Options:
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m|x|'

70819167678.

70819167679, &
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Question Number : 15 Question Id : 70819120838 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 70819120839 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A short straight object of height 100 cm lies before the central axis of a spherical mirror
whose focal length has absolute value |f| =40 cm. The image of object produced by the
mirror is of height 25 cm and has the same orientation of the object. One may conclude from
the information :

Options :
70819167681 Image is virtual, opposite side of concave mirror.

70819167682. Image is real, same side of concave mirror.

70819167683. Image is virtual, opposite side of convex mirror.

70819167684. Image is real, same side of convex mirror.

Question Number : 16 Question Id : 70819120839 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 70819120840 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment two slits are separated by 2 mm and the screen is placed
one meter away. When a light of wavelength 500 nm is used, the fringe separation will be :

Options :

70819167685, | mm

70819167686. 0.75 mm

70819167687, 0.50 mm

70819167688, U-22 mm

Question Number : 17 Question Id : 70819120840 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819167685, | mm

70819167686, U-/° mm

70819167687, 0.50 mm
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Question Number : 18 Question Id : 70819120841 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A ¢ An electron mjcmscope can achieve better resolving power than an optical
nﬁcmscope.

Reason R : The de Broglie's wavelength of the electrons emitted from an electron gun
is much less than wavelength of visible light.

In the light of the above statements, choose the correct answer from the options given below :
Options:
70819167689, Poth A and R are true and R is the correct explanation of A.

70819167690, Both A and R are true but R is NOT the correct explanation of A.

70819167691, A 1s true but R is false.

70819167692. A is false but R is true.

Question Number : 18 Question Id : 70819120841 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 70819120842 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If A; and A, are the wavelengths of the third member of Lyman and first member of the
Paschen series respectively, then the value of A, : A, is:

Options :

70819167693, 7 : 108

70819167694, * -

70819167695, 1+ 3

70819167696, 1 °

Question Number : 19 Question Id : 70819120842 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 70819120843 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LED is constructed from Ga-As-P semiconducting material. The energy gap of this LED is
1.9 eV. Calculate the wavelength of light emitted and its colour.

[h=6.63%10"*Js and c=3x10% ms™ 1]

Options :
70819167697. 654 nm and red colour

70819167698. 6564 nm and orange colour

20819167699, 1046 nm and blue colour

70819167700. 1046 nm and red colour

Question Number : 20 Question Id : 70819120843 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 21 Question Id : 70819120844 Question Type : SA
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As shown in the figure, a block of mass ﬁ kg is kept on a horizontal rough surface of

1
coefficient of friction 35 The critical force to be applied on the vertical surface as shown

at an angle 60" with horizontal such that it does not move, will be 3x. The value of x will be

| 1
[g=10 m/s?; sin 60°= %;cos 60° = E]

Response Type : Numeric
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Show Word Count : Yes
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5 to 5.001

Question Number : 22 Question Id : 70819120845 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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— A A
A boy pushes a box of mass 2kg with aforce F =| 20+ 10 |N ona frictionless surface.

4

[f the box was initially at rest, then __
10 s.

___ mis displacement along the x-axis after
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5 to 5.001
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Show Word Count : Yes
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5 to 5.001

Question Number : 23 Question Id : 70819120846 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A person standing on a spring balance inside a stationary lift measures 60 kg. The weight of
that person if the lift descends with uniform downward acceleration of 1.8 m/ s2 will be

N g=1mf 53]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
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5to 5.001

Question Number : 23 Question Id : 70819120846 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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5 to 5.001

Question Number : 24 Question Id : 70819120847 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mass per unit length of a uniform wire is 0.135 g/cm. A transverse wave of the form
y=—021 sin (x+30t) is produced in it, where x is in meter and t is in second. Then, the
expected value of tension in the wire is x x 10~ % N. Value of x is . (Round-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120847 Question Type : SA
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Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819120848 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

A container is divided into two chambers by a partition. The volume of first chamber is
4.5 litre and second chamber is 5.5 litre. The first chamber contain 3.0 moles of gas at pressure
2.0 atm and second chamber contain 4.0 moles of gas at pressure 3.0 atm. After the partition
is removed and the mixture attains equilibrium, then, the common equilibrium pressure
existing in the mixture is xx 10~ ! atm. Value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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5 to 5.001

Question Number : 25 Question Id : 70819120848 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@ Daratamen, sHULE seurrad @@ apsarnal UfdaUUl(l) o dmeng. (psa
=janm W96 sam ere 4.5 el L] OHMILD G el e sjannllen searara 5.5 adllLj
S G0. s ep 2.0 aueafl w‘v‘q@;-{d_}g,;_hglat- 3.0 Gored eumyeneuwbd, @reawrLeug
e 3.0 cuafl ips558 e 4.0 Gond eumyenaulb QaramBdrarar. @)m ennsEnEs,
@eGuwren ghuuésauey badllen, eumyésamel soblae SLwb Gung,
dsaamada Blaoan iwssw xx10~! atm aafld, x -ar wHULY eTemer ?
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001
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Correct Marks : 4 Wrong Marks : 0



A radiation is emitted by 1000 W bulb and it generates an electric field and magnetic field at
P, placed at a distance of 2 m. The efficiency of the bulb is 1.25%. The value of peak electric
field at P is x x10~1 V/m. Value of x is . (Rounded-off to the nearest integer)

[Take &,=8.85x10 "2 C2N"1m~2 ¢=3x10° ms™ ]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
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5 to 5.001
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5 to 5.001

Question Number : 27 Question Id : 70819120850 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In an electrical circuit, a battery is connected to pass 20 C of charge through it in a certain
given time. The potential difference between two plates of the battery is maintained at 15 V.
The workdone by the battery is I
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Evaluation Required For SA : Yes
Show Word Count : Yes
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Text Areas : PlainText
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5 to 5.001

Question Number : 27 Question Id : 70819120850 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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5 to 5.001
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The circuit contains two diodes each with a forward resistance of 50 () and with infinite
reverse resistance. If the battery voltage is 6 V, the current through the 120 () resistance is

_________ mA.
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Answers Type : Range
Text Areas : PlainText
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5to 5.001

Question Number : 29 Question Id : 70819120852 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The maximum and minimum amplitude of an amplitude modulated wave is 16 V and 8 V
respectively. The modulation index for this amplitude modulated wave is x X 102 The value
of x is
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5 to 5.001
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5 to 5.001



Question Number : 30 Question Id : 70819120853 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a series LCR resonant circuit, the quality factor is measured as 100. If the inductance is
increased by two fold and resistance is decreased by two fold, then the quality factor after
this change will be
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001
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5 to 5.001
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Section type : Online
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Number of Questions to be attempted : 20

Section Marks : 80
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Question Number : 31 Question Id : 70819120854 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The orbital having two radial as well as two angular nodes is :

Options:

3p
70819167711.

70819167712, 4d
70819167713, 4!

70819167714, °d

Question Number : 31 Question Id : 70819120854 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

3p
70819167711.



70819167712, 4d

70819167713, 4!

70819167714, °d

Question Number : 32 Question Id : 70819120855 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason K.

Assertion A : Dipole-dipole interactions are the only non-covalent interactions, resulting in
hydrogen bond formation.

Reason R : Fluorine is the most electronegative element and hydrogen bonds in HF are
symmetrical.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819167715, Poth A and R are true and R is the correct explanation of A

70819167716. Both A and R are true but R is NOT the correct explanation of A

70819167717, A 18 true but R is false

70819167718. A is false but R is true

Question Number : 32 Question Id : 70819120855 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 33 Question Id : 70819120856 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L

List-1 List-11
Electronic configuration AH in k] mol 1
of elements
(a) 1s22s? (i) 801
(b) 1s?2s?2p? (i) 899
(c) 1s22s22p? (iii) 1314
(d) 1s?2s22p! (iv) 1402

Choose the most appropriate answer from the options given below :
Options :
70819167719, (@ = (1), (b) — (iv), (¢) — (iii), (d) — (ii)

70819167720, (@) = (W), (b) — (1), (¢) — (i1), (d) — (iii)



70819167721. (@) — (i), (b) — (iii), (c) — (iv), (d) — (i)

20819167722, (@ = (1), (b) = (iii), (¢) — (iv), (d) — (i)

Question Number : 33 Question Id : 70819120856 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819167719. (@) — (i), (b) — (iv), () — (i), (d) — (ii)

70819167720, (@) — (), (b) — (i), () — (i), (d) — (ii1)

70819167721. (a) — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819167722. (@) — (1), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120857 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-1L
List-1 List-11
(Ore) (Element Present)
(a) Kernite (i) Tin
(b) Cassiterite (ii) Boron
(c) Calamine (iii) Fluorine
(d) Cryolite (iv) Zinc
Choose the most appropriate answer from the options given below :

Options :
70819167723, (@) = (i), (b) = (i), (¢) — (iv), (d) — (ii)

70819167724, (@ — (ii1), (b) — (i), (c) — (i1), (d) — (iv)

70819167725, (@) = (i), (b) — (iv), (c) — (i), (d) — (iii)

20819167726, @ — (1), (b) — (iil), () — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120857 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
20819167723, (@ — (i), (b) = (i), (¢) — (iv), (d) — (iii)

70819167724, (@ — (i), (b) — (i), (¢) — (i1), (d) — (iv)



20819167725, (@) = (i), (b) = (iv), (c) — (i), (d) — (iii)

70819167726. (a) — (i), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 35 Question Id : 70819120858 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Statements about heavy water are given below.

A. Heavy water is used in exchange reactions for the study of reaction mechanisms.
B.  Heavy water is prepared by exhaustive electrolysis of water.

C.  Heavy water has higher boiling point than ordinary water.

D.  Viscosity of H,O is greater than D,0.

Choose the most appropriate answer from the options given below :

Options :

70819167727, ©r and B only

70819167728, ‘+ and C only

70819167729, “+ and D only

20819167730, ‘+ Band Conly

Question Number : 35 Question Id : 70819120858 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819167727, 4 Lhmib B oL (b

70819167728, * 120D € LI

70819167729, 4 LOMIL D 0L (HD

70819167730, B 0mi0 C oL (i

Question Number : 36 Question Id : 70819120859 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find A, B and C in the following reactions :
NH,+ A +CO, — (NH,),CO,

(NH,),CO; + H,O0+B — NH,HCO,
NHHCO,; + NaCl — NH,C1+C

Options :
70819167731, A~HLO ; B=0y; C—Nay(0,

70819167732, =¥ PO PN AREAY

70819167733, *H S ARl Sk ol = NG

70819167734, = : E

Question Number : 36 Question Id : 70819120859 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Epssan cllenansaflcd A, B whmb C -g ser(h iy &8 6yb.
NH,+ A +CO, — (NH,),CO,

NH,HCO; + NaCl — NH,CI + C

Options :

70819167731, A H20 ; B~ 0y C~NayCO;

70819167732, 5 LR A RS

70819167733, HO : B~CO, ; €~ NaHCO,

70819167734, % * %

Question Number : 37 Question Id : 70819120860 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound A used as a strong oxidizing agent is amphoteric in nature. It is the part of lead
storage batteries. Compound A is :

Options:
70819167735, PO

70819167736. b

70819167737, 1 304

PbSO,
70819167738,

Question Number : 37 Question Id : 70819120860 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :

70819167735, PbO

70819167736, | PO

70819167737 1 P304

PbSO,
70819167738.

Question Number : 38 Question Id : 70819120861 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following lanthanoids does not form MDZ ?
[M is lanthanoid metal]

Options :

70819167739, Nd

70819167740. 2V

70819167741, Fr

70819167742, Yb

Question Number : 38 Question Id : 70819120861 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
70819167739, Nd

70819167740, 2V

70819167741, T

70819167742. Yb

Question Number : 39 Question Id : 70819120862 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The presence of ozone in trnposphore :

Options :
70819167743 protects us from the UV radiation

70819167744 protects us from the X-ray radiation

generates phf}todmmical SmMog,
70819167745.

protects us from greenhouse effect
70819167746.

Question Number : 39 Question Id : 70819120862 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 40 Question Id : 70819120863 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1: A mixture of chloroform and aniline can be separated bﬂ, simple distillation.

Statement 11 :  When separating aniline from a mixture of aniline and water by steam
distillation aniline boils below its boiling point.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819167747. Both Statement I and Statement 11 are true

70819167748. Both Statement I and Statement 11 are false

708191677409. Statement 1 is true but Statement 11 is false

70819167750. Statement 1 is false but Statement 1l is true

Question Number : 40 Question Id : 70819120863 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ECp @ran() smomsar Qarhésuul (Hararen.

gamm) 1: GCarnCrrumjb wHmb efldar swbs swmeamu eaaflw
aumanaely 5@ apad Eflésam.

&Lﬁ)@j 1: sjaflellen WLHMLD Eﬂj sbs soemealdmbs oiefldlem e ﬁ}un@ﬁ]
aumanaaulgdae daiuyn Gurgy safldlar 2ger dandfleewau ol
Genaunar deutiublaada Cardladng.

Cuonsar, shnsefer oglumLde, Gy danpasiu’Hamr gresafla @)mba

fl&a|b flumer ellaLewu CainblshHése

Options :

20819167747, =DM 1 OO Sapm) I Grem(io &l

Famm) 1 hmb sgamnmy I @reer(hn Seum.
70819167748, DO 1 LoDDID SO I GremBLO e

70819167749, TDDI 1811 paned sapmi I 5eum.

20819167750, F-DDI I saum pered Sapmy I &1l

Question Number : 41 Question Id : 70819120864 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is ‘a” FALSE statement ?

Options :

70819167751, Carius tube is used in the estimation of sulphur in an organic compound.
70819167752. Carius method is used for the estimation of nitrogen in an organic compound.
70819167753, Kjeldahl’s method is used for the estimation of nitrogen in an organic compound.

Phosphoric acid produced on oxidation of phosphorus present in an organic compound

20819167754. is precipitated as Mg?_PED? by adding magnesia mixture.



Question Number : 41 Question Id : 70819120864 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

EpssamLeunblea ehs sanmn Seumneg 7

Options :

e sflwé Cajosdla 2 drer Uy samLflu srfluey @wml vweruR&ng.
wJ ~ =) \J

70819167751, ~
srfluay papdea wpab @@ sflwé Cejwsdla o drer apLrmaar

70819167752 arelL_aomib.

70819167753 Gsemav apanpuler em sfloé Cafwssler 2 emer enplrmener ferail_emLb.
am sflué Cejugdla odrer umsvurgamev, umsvurfléd bleowns
apsallpGarppn Caigy Gareary og dwsatflur swme Geiss Mg,P,0,

20819167754, 25 aipugeurés LU (NE DSy,

Question Number : 42 Question Id : 70819120865 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH = CHBr 1. NaNH,
| . - (A
CH, 2. Red hot iron tube, 873 K (major product)

What is "A" 7

Options:
ILl:H =CH-NH,
CH,
70819167755.
CH,CH,CH,NH,

70819167756.



70819167757. :

H,C CH,

CH,
70819167758. :

Question Number : 42 Question Id : 70819120865 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
G Qanhasiiu’ (Herer elanamuea
TII=CIIBr 1. NaNH, _
CH, 2. Qagn@Lren @mbus @emi 873 K

(A)
W@ Bwrear eSlenem@uim(mer
‘A eramugy wimgl ?
Options :

CH=CH—NH,

-

CH,
70819167755.

CH,CH,CH,NH,
70819167756. ' allles e

70819167757. :

70819167758.



CH,

Question Number : 43 Question Id : 70819120866 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH,CH,
- - Ell'z , .\:
TR T 1 } i
UV light (major product)
monobrominated
CN
What is "A’7?
Options :
CH,CH,4
Br
CN
70819167759.
CH,CHj;
CN
70819167760.  DBr
N Cl I/
CN

70819167761.



Br CN
70819167762.

Question Number : 43 Question Id : 70819120866 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& LD emTL_ clenamuiley :
(W

CH,CH,
- sz
: r‘ﬂ } .I'Af
UV g6 (Bl dwirar aflenarCluimmar)
gnamn UCrrblCammnd iG55
CN
‘A’ GTarrug W ?
Options :
CH,CHj
Br
CN
70819167759.
CH,CH,
CN
70819167760. DT
\Cl I/
CN

70819167761.



Br CN
70819167762.

Question Number : 44 Question Id : 70819120867 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H_\-'dml_\-'sis B

A —
..)”_ .}' I\ {C-iHH{-}]

(C4HgCl)
B reacts with Hydroxyl amine but does not give Tollen’s test. Identify A and B.
Options :

70819167763. 1,1-Dichlorobutane and Butanal

70819167764. 2,2-Dichlorobutane and Butanal
70819167765. 1,1-Dichlorobutane and 2-Butanone

2 2.Di ; _ EEr
70819167766. -~ Dichlorobutane and Butan-2-one

Question Number : 44 Question Id : 70819120867 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Brme LG L
373K

B
(C4Hg0)

A
(C4HsCly)

B enan_nmééled sideni e eflenaru(élngl, <pemed Liraer Gangeneanani s(heudlaene.

A womd B - ser(p i deyLd.
Options:

o ¥ Iz':'l.- e G e .-'I . b (\ 5 " .:'.
20819167763, L1 - @L@CamGrmiy, _GLem wHmb KL eme



'j‘ ':" By _zq'l.- (2 (‘ = - I| . I (M ¥ - -:l-.
20819167764, 22 -~ @L@GemmGrmaiy G e wHMID KL 66
20819167765, 11 - L &GernGrmll GLen whmid 2 - 1Ay L Geormen

L e S SRR R e o B B
70819167766. 2,2 - enL_(Hloarmegmili,l L6 oM Mlwyl | e -2- e

Question Number : 45 Question Id : 70819120868 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identify the major products A and B respectively in the following reactions of phenol :

OH

) CHCIy NaOH Br, in CS, @
-
(ii) H3D+ 273 K

Options :
OH OH
Br CHO
and

70819167767.
OH OH
@ and @
70819167768, BT CHO

OH OH
Br
and
CHO

70819167769.



OH OH

CHO
and

70819167770.  Br

Question Number : 45 Question Id : 70819120868 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S earmadlam @Qp&a:@f:n_ allenanaefley 2 (maum@h WgHwuren eleer@ummisar (epGw
s o Ll g o h, ~

. 0 o ".a f.. ('-\ . - -
A wpmw B -o seam(hily&&6a]L0.

OH
CSy-afleb 2 airem
@ *(i] CHCly, NaOH Br,
T
(i) HyO™ 73K @
Options :
OH OH
Br CHO
LD M LD
70819167767.
OH OH
LOMHMILD
70819167768,  OF CHO

708191677609.



OH OH
Br

LD mILD

CHO

OH OH

CHO
L0 D) M LD

70819167770. BT

Question Number : 46 Question Id : 70819120869 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : G-Nitropheml is steam volatile due to intramolecular h}-’dmgen bonding.
Statement 11 : G-Nitropheml has high me[ting due to h}-’drogen bonding,.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819167771. Both Statement I and Statement 11 are true
70819167772. Both Statement I and Statement 1l are false

70819167773. Statement 1 is true but Statement 1l is false

70819167774, Statement 1 is [alse but Statement 11 is brue

Question Number : 46 Question Id : 70819120869 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

G @ran() spnsar danRésLuL (Herarar :

&Lﬁ)@jl: e ssmn 2L EM7hEs eanLl Fger Sepemrliy STRTONS
0 - el Comlenme) Brreflwnd gpellun@n serew HubmETeTs).

gamm) 11 : maplggear Wenetuy &ryemons o - epLCorlammed <dl&
2 G Haamus dsram(drarg.

Cupnsar_ smomseflar <igluamda, §Cp darfaésiulL sreseila @mbs

sflwren elenLen Cai7H6s[HESLD -

Options:

70819167771. gaoml I wHmbd saomy I @rewHin sflwumersg.

: g o |
20819167772, F-DDI Lepoid sapmy 11 Glyem(Hib seuprens).
70819167773, =PI L& e samm) I seum.

20819167774, F-DDI 1 seum penned sapmy 1T &l

Question Number : 47 Question Id : 70819120870 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An amine on reaction with benzenesulphonyl chloride produces a compound insoluble in
alkaline solution. This amine can be prepared by ammonolysis of ethyl chloride. The correct
structure of amine is :

Options :
CH,CH,CH,NHCH,
70819167775. :
CH,CH,C N CH,C
20819167776, <1 aCH2CHN = CHyCH;

NH —CH,CH,CHj
70819167777, :



CH,CH,NH,
70819167778. - 2+ Z

Question Number : 47 Question Id : 70819120870 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ siber, Huearden sCGuremard @Cearmanyhier elenenuBb Cung SHaLd@Eb
alenerGunmer srysdled saraudoma. @6s doar aidd GGarmenyaL
< Guoraflur enmnwn blelg swrflésand. 2iHs sibaflen sflurer enwliy :

e

Options :

70819167775, ab
. H
70819167776, <113CH2CHoN — CHoCH,
NH —CH,CH,CHj
70819167777, @/

CH,CH,NH,
70819167778. - 2+ Z

Question Number : 48 Question Id : 70819120871 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The structure of Nenprr_-nr_- is :

Options :

—{—CI—IECH:CI—I—CHQ—CHE CH ]

70819167779.

70819167780.



N L
NH
70819167781. |
]
[ CH—CH—-
70819167782. —

Question Number : 48 Question Id : 70819120871 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

BGwmifleflen enwiiy ergy ?

Options:
—%—CHﬂ}t:CH——CHf——CHZ TH ]n
70819167779. CN
Cl
[cmz é—cw—mh%q
70819167780.

70819167781.



«PCHZ CH ]n

70819167782.

Question Number : 49 Question Id : 70819120872 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following vitamin is helpful in delaying the blood clotting ?
Options :
70819167783, Vitamin B

T4 s -
70819167784, Vitamin C

Ta i 5 3
70819167785, " itamin E

70819167786, * ramin K

Question Number : 49 Question Id : 70819120872 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b ameul_LLflem @ rds0 2 mps@ma sMwsLNs HE0ss 2 sedng ?

aflr_;péhd:@:':n_ 6T
Options :

70819167783, Vel __L_Llesr B
70819167784. eneuL_L_blem C
eneul_L_lesr E

70819167785.

70819167786, eulLtblen K



Question Number : 50 Question Id : 70819120873 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On treating a compound with warm dil. H2804, gas X is evolved which turns K?_CrED?
paper acidified with dil. H,50, to a green compound Y. X and Y respectively are :

Options:

X:S»C] rY:{:r EC}
70819167787. 3 2(50,);

70819167788, 202 Y=Cr0;

70819167789. ; NP

70819167790. = o ;

Question Number : 50 Question Id : 70819120873 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ Ceinsams Wsomer & id o aar Biss H,S0, 2 Ler CardEn Cumg X eem
aumy Geveliu@dng. @s Biss HSO, -<oéd <ublanrssiul L K,Cr,0, staer
ugew Hné Garwb Y - wrhndng. X oHmb Y wpanGu

Options :
X=50,, Y=Cr.(SO
70819167787. 3 2(504)s
70819167788, 22 Y=Cr0,
X=50,, Y=Cr,0,
70819167789. : 2

X=50,, Y=Cr,(SO,);
70819167790. 5 A



Chemistry Section B

Section Id : 708191931
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911211
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819120874 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of significant figures in 50000.020 %103 is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819120874 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



50000.020x10°* -Wlé 2 erer Wafusgad arlns aansafar aarafdms
\, —c ‘ol

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120875 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3

'{r'J *
b) =RT. The value of | — | is 1—h The value of xis

A cerlain oas obeys P(V - ¢
BRORSTE e (9P )7 RT

m

(Integer answer) (Z : compressibility factor)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120875 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@ GHOUELL aumy PV, ~b)=RT ereinp soemun’ien@E sLHLUULEH GeuduBdng.
dZ.\ _— . 1h o : - : S
—| -ufler wily — erefled, x -em wALY . (eflew @ pp ereammantiad)
t.'-llP,"'] RT ik i

(Z = =ipé&s smyeni)
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120876 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For a chemical reaction A+ B =C+D

(A, H=80 kJ mol~!) the entropy change A S° depends on the temperature T(in K) as
A S9=2T (] K~ mol 1),

Minimum temperature at which it will become spontaneous is K. (Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819120876 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A +B =C+Daamn Geudlelanand s (AH®=80Kk] mol~1), A 59=2T erainy Sjanneugmed

(K™ 'mol ™) arem Gym4 wmhpd AS° Geutiuflave T (K siedld) - #1768 erarfld

CopsarL elear genaflédamswuns paoLuns Csmeaiu( .@f;éﬁ: DhSLLE
Qeuuflene (K-afled) _ (eflani : pp ereimamfled)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 54 Question Id : 70819120877 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

224 mL of S0, at 298 Kand 1 atm is passed through 100 mL of 0.1 M NaOH solution. The

¢ ) BEET gl 3
non-volatile soi’ute producod is dissolved in 36 g of water. The Iowormg of vapour pressure

of solution (assuming the solution is dilute) (P(I ,0)= 24 mm of Hg*,_] is xx 102 mm of Hg,

the value of xis ___ (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819120877 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

224 mL SD""(E}

=\uk
@aE o marar Sellursns saqdunmar 36 g Bfle sorssiubdng. smrsa
‘% G)] (T [+ ) WM& T h &) T L Bc_, & 6O ] Shidh \h .'_,@_. ol ] &l

298 K -efléb 1atm 100 mL 0.1 M NaOH sapseiled Gleaussiiu(hélnsg.

bié58 erand smblaCaneamme, “’(};30}:34 mm of H}*,) senyaedlen el 3N(P55E

@eme| xx10”2 mm Hg, x -6 wiliy (eflanL : (pp eremrenfled)
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 55 Question Id : 70819120878 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A homogeneous ideal gaseous reaction AB, ) = A( )1 ZB'[E} is carried out in a 25 litre flask
at 27°C. The initial amount of AB, was 1 mole and the equilibrium pressure was 1.9 atm.

The value of Kp is xx 1072 The value of xis __ . (Integer answer)
[R=0.08206 dm?atm K~ ! mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819120878 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2(h (U SSTar BOlWOY aumuysseer s mamL ABE{g} _'A(g} |

G EB(E} erettm el ement
27°C -l9a 25 allLfy Ganarerarey Geramwe @Hameadad Hapssiu@ddng.

AB, -eflen mdU syarey, 1 G oD Foflene SiWssW0 1.9atm erafld K, - e

iy xx10 2 x -anm ALY _
[R=0.08206 dm®atm K~ ! mol ]

. (eflen qpqp eremmantled)
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120879 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Consider the [ oﬂowing reaction
MnOjy +8H™* +5e~— Mn 2 -lHEO, =151\

The quantity of electricity required in Faraday to reduce five moles of MnOy is

(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120879 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
SsaemL ellaaneniid &(hg) s,

..'\]1104 F8H* +5e~— Mn*2+4H,0, E'=151 V.

aalld mhg GordMnOy -0 Héss Gemaulu®b Wdaerygsslear 3era

(umyGL-efle) (eflen (o ereimantle)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120880 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



An exothermic reaction X — Y has an activation energy 30 k] mol~!. If energy change
AE during the reaction is — 20 k], then the activation energy for the reverse reaction in k] is
(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120880 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@ Qeuliub 2 1flpedaner X — Y -1er dlerjayn <phpa 30 k] mol L. @)elellenamen

Qmna wromd AE, —20 k] aafldr @edicilaear GarGCamsdl Hlaws Comauliufib

farjayn <ppoe (K edla) . (ellen pp erawmenfld)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819120881 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3.12 g of oxygen is adsorbed on 1.2 g of platinum metal. The volume of oxygen adsorbed per
gram of the adsorbent at T atm and 300 K in Lis __

[R=0.0821 L atm K1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819120881 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
1.2 g Yemmigemd 2 Ganasd Bgy 3.12 g ybellmaer ugiy saugiu@Béng erafla
1 atm wHmb 300K -afléd gm &lgrd upliyssay Aummear by LrlussauiulL
spsellmafler sar oarey (L oedld) . [R=0.0821L atm K™ ! mol ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819120882 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Dichromate ion is treated with base, the oxidation number of Cr in the product formed is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 59 Question Id : 70819120882 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

en@ErmGn Ll owefl, srrssLer Cafasliufbn Cung emeaun@h edlenarEummatle
) s I \-) -7" S S S

: T T L :
o arer Cr -af yHevi@bearmm erewr

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819120883 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Number of bridging CO ligands in [Mn,(CO),lis .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819120883 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[Mn,(CO)q] pflwaundler urel Gamemibia o arer CO meflsaflen eramentlsans
wpenGw .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

708191932
5

Online
Mandatory
20

20

80

Yes

1
7081911212

Yes

Question Number : 61 Question Id : 70819120884 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If : and ; are perpendicular, then a > + a
Options :
70819167801. U

4

‘—}—>

al b

M| =

70819167802.

I

ax b |:|| is equal to :



:
70819167803.|a‘ b

e

70819167804, @ * b

Question Number : 61 Question Id : 70819120884 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

da LDH,"H;IJLD b GTenlL eal 'ﬁ1nﬂ'|hJ.i'.‘l_‘;.\ﬂ_:-{t_h||@ﬂ|@E;G:U G.'l]lblji B a>xla X lax 'ta X b =

P’

70819167801.

—|" —=

4
‘a b

I [

70819167802.

e
70819167803.|a‘ b

——

70819167804, @ * b

Question Number : 62 Question Id : 70819120885 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If (1,5, 35), (7,5,5), (1, \,7) and (2\, 1, 2) are coplanar, then the sum of all possible values
of his:

Options :
39
70819167805, °



70819167806. 2

70819167807.

70819167808.

Question Number : 62 Question Id : 70819120885 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

------

eréver engdlwiorer wAuuseilen s e

Options :

70819167805. °

70819167806. °

70819167807.

70819167808.

Question Number : 63 Question Id : 70819120886 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The intersection of three lines x—y=0, x+2y=3and 2Zx+y=6is a :

Options:



70819167809, Right angled triangle

70819167810, 1s0sceles triangle

70819167811. Equilateral triangle

70819167812, Tvone of the above

Question Number : 63 Question Id : 70819120886 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x=y=0, x+2y=3 wHQb r+y=6 aenp Can(seflear el ydreflgerme
2 (HUMSSLL(HD (p&CaTemTD 6

Options :

20819167809. ClemiGCamen (p&EGCEMTeTLD.

70819167810 E@I(RFLUES (PEGSTERTLD.

70819167811. FOUES (1Lp& & MemTLD.

Goed 2 dTaT 6T eyl cuenay.
70819167812. SIo

Question Number : 64 Question Id : 70819120887 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a+1){a+2) a+2 1
The value of [a + 2)(a+ 3) a+3 1|is:
(a+3)a+4) a+4 1



Options :

e p
70819167813, (@ T D@ +2)(@+3)

70819167814, (@ T2)(@+3)(a+4)

]

70819167815.

70819167816, U

Question Number : 64 Question Id : 70819120887 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a+1)a+2) a+2 1
(a+2)(at+3) a+3 1 -ar wdliL
(a+3)a+4) a+4 1

Options :

a+1)(a+2)(a+3
70819167813, (AT D@ +2)(a+3)

70819167814, (@ t2)(@+3)(a+4)

I

70819167815.

70819167816. 0

Question Number : 65 Question Id : 70819120888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The rate of growth of bacteria in a culture is proportional to the number of bacteria present
and the bacteria count is 1000 at initial time t=0. The number of bacteria is increased by

2
is

20% in 2 hours. If the population of bacteria is 2000 after hours, then [

log 3] l0ge2,
equal to :
Options :

70819167817. 2
70819167818. 4
70819167819. 8

70819167820. 16

Question Number : 65 Question Id : 70819120888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ Dewmas urdy fur 2 Husduile unsyMuredan eueriédl Ceushd 2idlé o 6o
undig flunéseflar eramantléama Gurmgs wrmu@&ns). srab t=0 aayblumips
uréy flwurésefler eremeanfléams 1000 @b, Guad 2 well Crrsdld 20%

k
—  pafl Crrédld 4 m

urse flursser oidlaflés o dreran.

2

k
urdy flwnsseflen Gsrens 2000 erafled, -
loge2)

Options :

70819167817. 2

70819167818, 4

70819167819. 8

70819167820. 16



Question Number : 66 Question Id : 70819120889 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the circle given below, let OA =1 unit, OB =13 unit and PQ L OB. Then, the area of the
triangle PQB (in square units) is :

NS
(}\\\;;iij::;73 X

Q
Options :

24 ﬁ

I

70819167821,
70819167822 2443

70819167823, 26v2

)

I3

70819167824, 2643

Question Number : 66 Question Id : 70819120889 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Cula GarpssiuHarer el L ddld OA =1 e s, OB=13 wje@ whnw PQ LOB

2@, @UCumps waGsremd PQB -ar urliuere| (557 SGEsefld)
Options :

70819167821, 242

70819167822, 2433

70819167823, 2632

(I

63

70819167824.

Question Number : 67 Question Id : 70819120890 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[ F‘-r;inl:-fl | h}l u.*nsl:'(l | h}l
The value of lim 24 . ' 6
i J3h(y3cosh — sinh)

Options :

W|N

70819167825.

4
70819167826.

4 N

70819167827, N+



3
70819167828, 4

Question Number : 67 Question Id : 70819120890 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. |V3sin (F+h)—cos(E+h)|
lim 24 : v -eim &l
h—0 | V3h(\3cosh — sinh) |

A

Options :

| R

70819167825.

70819167826.

2

70819167827, V2

3
70819167828. 4

Question Number : 68 Question Id : 70819120891 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The maximum slope of the curve y = —x* — 5x% + 18x? ~ 19x occurs at the point :

g

Options :

70819167829. (0. 0)

2o
70819167830. (2 2)



70819167831.

70819167832, (2 9)

Question Number : 68 Question Id : 70819120891 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

19 e euenarauangilar srlailpE WOGL@ WL

1 :
Y= ;1’4 50 + 18x°

SenL&@h yerafl

Options :
70819167829. (0. 0)

257
70819167830. (2 2)

70819167831.

70819167832, (2 9)

Question Number : 69 Question Id : 70819120892 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of _|= COS_': dx is:
1 +3

iy}

Options:

ra |

70819167833.



70819167834, 2T

o

70819167835, =

70819167836, *™

Question Number : 69 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
_[ T
1+3*

—
rar )

dx -eim L&l

Options:

ra |

70819167833.

I
=)

70819167834, 2

L

70819167835.

70819167836.

Question Number : 70 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819120892 Question Type : MCQ Option Shuffling : Yes

: 70819120893 Question Type : MCQ Option Shuffling : Yes

The number of seven digit integers with sum of the digits equa[ to 10 and formed bj,-' using

the digits 1, 2 and 3 only is :

Options :



70819167837, 42

(R ]

70819167838, °°

b |
=1

708191678309.

i o
-2

70819167840.

Question Number : 70 Question Id : 70819120893 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1,2 wom 3 by Qessnsamar wL(Hb eLCuSss @osshsellar smbHsa 10

26 2 arer 7 @aés (p eansaflan eremenflans
Options:

70819167837, 42

70819167838. -

=]
=~

70819167839.

o o
2

70819167840.

Question Number : 71 Question Id : 70819120894 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum value of the term independent of ‘t’ in the expansion of [LP |

\ /

where x< (0, 1) is:

Options :



70819167841, V3(5)°

70819167842.

70819167843, ~')°

70819167844, 22U

Question Number : 71 Question Id : 70819120894 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
' gl
: L (1-x)wo T g
x(0,1) ereirmeurnmy | tx> + g e cilflelled “t -enw &g 2idlsLls wELL
\ )

2 enLW 2 muy

Options :
10!

70819167841, V35!

2.10!

X .
70819167842, V33!

70819167843, ()

2
70819167844. A51)



Question Number : 72 Question Id : 70819120895 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let R={(P, Q) | P and Q are at the same distance from the origin} be a relation, then the
equivalence class of (1, —1) is the set :

Options :

L L I A
70819167845, ° (& ¥) [T HyT=4

—(x 3
70819167846, >~ W& ¥) [ a7 +y"=2

—{(x 3
70819167847, ° & Y) [ 274y

— [(x 2.
70819167848, °— W& Y) [ ¥ +y”

Question Number : 72 Question Id : 70819120895 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R={{P, Q)| P wnnbd Q erenuen Sullemps @Gy smsdd o sraraneu} earus

-

Gsriy. @ens Gummss (1, —1) -en Fwomer eyELLE S
Options :

L L
70819167845, ~ W W) [ tym=4)

70819167846, >~ (& ¥)

70819167847, > (% ¥)

srid L s -_,:'
70819167848, °— (& y) | x= 4y~ JZ)



Question Number : 73 Question Id : 70819120896 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a symmetric matrix of order 2 with integer entries. If the sum of the diagonal
elements of A2 is 1, then the possible number of such matrices is :

Options :

70819167849, !

70819167850, 4

70819167851, ©

70819167852, 12

Question Number : 73 Question Id : 70819120896 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A aramug) (p(eram 2 muLsmad QaramL cuflans 22 arar e sdf] Sferflumg.
o] i - . . oo .'" g . y m g - ..
£ e i) &l L= ) ol eillcl;, SHellll A ~calleldl ‘o )
A -ar apeaeillL o puingseflar mhsa 1 aaflad, el A-darer Qurss
aumilusseflen eremeanflsens

Options :

70819167849, !
70819167850, 4
6

70819167851.

70819167852, 12

Question Number : 74 Question Id : 70819120897 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f be any function defined on R and let it satisfy the condition :

fo)—fu)| = [&-v)*. ¥ (v y)eR
If f{0) = 1, then :
Options :
70819167853, /(1) >0, 7 x<s R

70819167854, /() <0, FxeR

70819167855, /() =0, vxe R

70819167856, / (¥) can take any value in R

Question Number : 74 Question Id : 70819120897 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R bg amqundsiu@n feeam smiu | fx)-fly)| < | (x-v)?|, ¥ (x, y) € R eram
s (uum_enL ,LE]WH?@-I Qsdlpg. f0) = 1, arafléd
Options :

70819167853, /() > 0. 7 xe R

70819167854, /() <0, 7xe R

70819167855, /@) =0, vxe R

20819167856, /@ @hsGain® R -ér 2 arar e i,

Question Number : 75 Question Id : 70819120898 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A fair coin is tossed a fixed number of times. If the probability of getting 7 heads is equal to
probability of getting 9 heads, then the probability of getting 2 heads is :

Options :

8
70819167857, 2

70819167858, 2~

70819167859.

15
14
70819167860. 2

Question Number : 75 Question Id : 70819120898 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fomenm e Brewwd @ GOILYALL eramanfldmsdane sLmea sam_liuBdng.
7 sLavau eavey alllpeugmsnan Blapssaib, 9 e soa ellpagnanar Hlapssan
golb erafled, 2 panm sened edpeugnamer Hlapsse,

Options:

8
70819167857, 2

1
70819167858, 2

70819167859.



15
14
70819167860. 2

Question Number : 76 Question Id : 70819120899 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. =1 -1 -1 \
. sin 'x cos x tan 1 i
If = = J ; 0 <x <1, then the value of C05|
a b C .a+b)

™C

15 :

Options :

"

70819167861, 1 ¥~

-

1—- vy
70819167862. VY

P
70819167863. Y

2y
70819167864.

Question Number : 76 Question Id : 70819120899 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-1 7 A

= = ; oMo 0 < x <1 erafle C05|
a b C " .a+b)

-6 oGl
Options :

70819167861, 1 V¥

-

11—y
70819167862. VY




2

-y

14 1;2
70819167863. :

1 yz

2y
70819167864.

Question Number : 77 Question Id : 70819120900 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

25
In an increasing geometric series, the sum of the second and the sixth term is 5 and the

product of the third and fifth term is 25. Then, the sum of 4th gt and 8th terms is equal to :

Options :

I-2
o

70819167865.

23

70819167866. 0

70819167867. -

L3

70819167868, 9

Question Number : 77 Question Id : 70819120900 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s AumsEs tgnifled, @ ram_rag wHnb <ypraug 2 nlusafar mpsed

ta (T
U'_?‘ '\-\.I l::'

. . - - . F : " ’ s S = ) F
— LwHpb gparpraig LHNL Phsrag epluysdda umssD 25 G0,
. gl @ L q@lE : T S,
@uumpg, 49, 6% wppd 8% 2 pliLselldr mEsD

Options:



]
=

70819167865.

Ld

70819167866. -0

70819167867. -

(]

70819167868. 32

Question Number : 78 Question Id : 70819120901 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 7 12 17 22 .
“—2 3 3 = T is equal to :

The sum of the infinite series 1 % [

Options :

9

70819167869, 4
u

70819167870. 4

13

70819167871. 4

15
70819167872. 4

Question Number : 78 Question Id : 70819120901 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s
.'r 0 & F (& i - .
= S elailm (plyeumm Glsmfler gn(psen



Options :
9
70819167869, +

11
70819167870. 4

43

70819167871. 4

15
70819167872. 4

Question Number : 79 Question Id : 70819120902 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the three planes

Py : 3x+15y+21z=9,

P, :x—3y—2z=5, and

Py 2x+ 10y + 14z =
Then, which one of the following is true 7
Options :

20819167873, 1 and Py are parallel.

20819167874, L1 and P are parallel.

70819167875, 112 T2 and Py all are parallel.

70819167876, | 2 @nd I3 are parallel.

Question Number : 79 Question Id : 70819120902 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Ep&seamTL epen Serrsanar of (hssH&0sners
l"'l : 3x+15y+21z=9,
P,: x—3y—z=5 whmib
P; : 2x+ 10y +14z=>5

@uGunups, Spssam _cubbled) eTg o amenn ?

Options :

70819167873. P; nmmib P, (@) enemtiuimen eney
70819167874. P, wihmib Py (@) enemrime eney
70819167875, P,, P, nibmib P, @lenenmuimerenal
70819167876. P, whmid Py @) enemmwimetene

Question Number : 80 Question Id : 70819120903 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100 n

The value of Y. | e* Pl dx | where [x] is the greatest integer = x, is :
n=1 n—1

Options :

70819167877, 100(1~¢)

70819167878, 100(1 +e)

70819167879, 100e

70819167880, 100(e —1)



Question Number : 80 Question Id : 70819120903 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100 n

[x] aremLigy x-enw o9l W&Moed 2 aTem (p erer erafled, ), | e Pl gy LD
n=1 nll

Options :

70819167877, 100(1~¢)

70819167878, 100(1+e)

70819167879, 100e

70819167880, 100(e —1)

Mathematics Section B

Section Id : 708191933
Section Number : 6

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911213
Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 70819120904 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The difference between degree and order of a differential equation that represents the [ amﬂ}-'

— %\

; . 9 Ja :
of curves given by ¥~ = a[x gy oy Ois

L =/
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819120904 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3

,a>0 ey euemareuenTen GHIEEGD cuanddbla 1y FoaTUT e, Ly

oo B
y—ﬂk.l ?

4
womn aflomssersE QoL Cu odrer elsduned .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120905 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The sum of 162" power of the roots of the equation x*~2x2+2x=1=0is .

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120905 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2

=20+ 2 -1=0 arenp swenurlgen eparseien 162%8 oRsEsaflan &m{sa

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819120906 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The area bounded by the lines y=||x—1|—2|is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 83 Question Id : 70819120906 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

y=| x=1|-2| eranrm GarHsarme 2 (haurssLblumb urlUaTey _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120907 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

dJ’ | e‘:]l‘li

If y=y(x) is the solution of the equation e e Y cosy—= cosx = cosx, y(0)=0; then

. (7Y B3 (7 Loind
14 y|\EJ | ?y|;)‘ | \—Eylzj isequal o .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120907 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

dy i
ein’ 'rco';jd;" - ¥ cos x = cos x , y(0)=0; eremp Fwenun_wer Fia) y=y(x) erafle,

1|J1—||—J’|—j|| E\ = I



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819120908 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation logy(x—1)=log,(x—3)is .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819120908 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

log,(x—1)=log,(x—3) eremp Fweanurien e saflan eremeniléans
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 86 Question Id : 70819120909 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of integral values of 'k’ for which the equation 3sinx +4cosx =k + 1 hasa solution,
kcRis. .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819120909 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ke R edrareumny wihmib 3sin x+4cosx=k+1 erain sy ne Siey 2 aremeummyLb
S| ELOILLD (WP creir 'k’ -Gsefler cramenfléens .

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120910 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let (A, 2, 1) be a point on the plane which passes through the point (4, —2, 2). If the plane is
perpendicular to the line joining the points (-2, —21, 29) and (-1, —16, 23), then
.|r yndl o

A
— -4 isequalto .
1) 1



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120910 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(4, -2,2) eremn yerefl auflCGw Qaaogd gm Hensdled (A,2,1) ererugy g UdTaflwmgLo.
Cuoaib ibs sand (-2, =21, 29) womnw (-1, —16,23) eern Yeraflaenar @aenré @L

\2

i :
oo P v : o ok 4\
Garliyn@ dem@ssns 2 erarg erele, 'ﬁ‘ o

11

4=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 88 Question Id : 70819120911 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
™

The value of the integral _[ sin2y |dx is
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 88 Question Id : 70819120911 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

— =t =
U

Response Type : Numeric
Evaluation Required For SA : Yes
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